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BOARD DIPLOMA EXAMINATION, (C-20)

JUNE/JULY—2022

DECE – FOURTH SEMESTER EXAMINATION

ENGINEERING MATHEMATICS-III

7439

C20-EC/CHPC–401
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21. Solve 

Instructions : (1) Answer all questions.

(2) Each question carries three marks.

PART—A 3×10=30
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Instructions : (1) Answer all questions.

(2) Each question carries eight marks.

PART—B 8×5=40

f x x  in

the  interval  1,1 .

nb  in the Fourier series expansion of   410. Find the value of 

c c   ., 2

f x  in the

interval  

9. Write the formulae for obtaining the Fourier series of  

f x x  in

the interval  0,2 .

a  in the Fourier series expansion of  08. Find the value of 
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the interval  0, and hence deduce that 

f x x  in  216. Find the half-range Fourier Cosine seris for the function 

(2) The question carries ten marks.

Instructions : (1) Answer the following question.

PART—C                                                  10×1=10
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(b) Using Laplace tranforms, evaluate 
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